24

¥B4 | R6WE T ®IERE (g X)) - &) HETEEES E BT A (— XA
(1) H H — A
HEH - TR - R - Bikk HAL Gl e (4E) KR e
— kR
= 1
[ELHE R A A
= 1
M -
= 1
TR =)0 (At =)y s) HEPE TV, 50mEL T, SR T, ¢ 11
6mm ) ,
HEE )00 Gropars =)vr) HSR U0 R, 50mPAF, S0 F 5, ¢
116mm
m 20
HEE )00 Gropars =) FERRE LY LD, 50mEL T, S8 F 75,
¢ 116mm
m 4
TR =)0 Atk =) W, 50mEL T, $R1EL T 7, @ 116mm
m 9
v 4007 R OVEAL B R
= 1
IREE AR il e sebZ1)
] 2
EUE R BUR T Y 1R
[m] 20
IREE AR ERRLY L
] 4
- T IR




¥B4 | ReWT &R (L X)) - @) HEREES S HB AR s (— iR )
(1) H H — A
HH - TR - FER - AR Bk HNL Gl R (4[E) KR LS
T GR Les)
] 3
AT
= 1
fir AT SR AT
= 1
TSR - ENEER
= 1
TR D R 3/ FRk
Ewa 22
TDE KR 3/ FRk
et 22
T okn EE R 5DV oHT BBR. Skg A
Ewa 20
T ookr BB WS S20aiTET
Ewa 2
T DR S GABR 4~6,5/7 0k
Vs 2
T RME IR SR 3R /F S
Ewa 2
Wy FRPEAT
= 1
9 - s U




¥¥%4 | Rot #INEEE GEE - X)W - )1 HEREES E i MR (— IR
(1) H H — IR
IHE - THE - &R - Hsl FS <X{va e (FimE) & (4mE) B R
P SHiE fNERRERZE 7 R EED=30m
HEH
= 1
P SHiE FLNEEZRE T E R FED=30m
B
= 1
P SHiE FLNEEZRE T E R FED=30m
F— X EE - BRI
= 1
T AR SRR
= 1
TR SRR (A -1 v)7)
= 1
WREHS
= 1
T e B
i 1
G e
= 1
R
= 1
TR
= 1
ANy b B AR
= 1
g TR IR




¥B4 | ReWT &R (L X)) - @) HEREES S HB AR s (— iR )
(1) H H — A
HH - TR - FER - AR Bk HNL Gl R (4[E) KR LS
A EAERR R 2
E 16
HE(i 2
= 1
Wi & O A1
= 1
A FLEAZE
= 1

AR BRI BT 5 b kA

{Gd 1
VAT R xR O/ih=
ThA2kmEAN (FLi@ LWl
Hi1 1
R
ThA2kmEAN (FLi@ LWl
HiL 1
%
1 bR
EN 1
AN YN B R RA
2 1
A ob B B
(EBR 1
AN N B s
(EBR 1

=
N
Jjm



¥B4 | R6WE T ®IERE (g X)) - &) HETEEES E BT A (— XA
(1) HOH — R
HEH - TR - R - Bikk HAL Gl e (4E) KR e
AN R B ARTEIEA v RERAR 13 B+ RIS
fRIAR3 H A48 7E
AR 16
NN TS M /A 7 i 1
] 1
BAN N AT RE KR OWE
= 1
et
= 1
LIKEPS TR )T RR 1
& A 1
A
A 16
JHtE B A ot S
i1 1
L Spw LRGN TOPS, 244 et
A 16
i A R A
= 1
i T PR
= 1
foli A
= 1

=
N
S



¥B4 | R6WE T ®IERE (g X)) - &) HETEEES E BT A (— XA
(1) H H — A
HH - TAE - FR - A5 Bikk HAL Gl e (4E) KR LES
BIEES
= 1
AR
= 1
— A
= 1
fiEAT R A
= 1
LRI
= 1
ST A
= 1
ik A 55 i A
= 1
PER PR
= 1
AR - A T E R ED=30m
= 1
PStiefE LIRS IR I E R EED=30m
ftT
= 1
PSHRE G EERA I E ZEEED=30m
= 1
_§ - e U




¥H4 R((13§EZi IR GEE r M) i - )1 HERAEET ﬁ EE iﬁ%é)ﬁﬁ%% (FRHT 2
HH - TR - FER - AR Bk HNL Ko (Rifla) Ko (48D Ko LS
BT
= 1
i
= 1
Tees%
=K 1
e
S 1
EHEAG (Z OMUFAGER <)
= 1
Z Ol
=K 1
— R
= 1
SR AT S R AT T
= 1
g ey R




